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o2 2™ 22 BPARIY nABCD 9 Hol7t 52em? ¥ o,
ODABCD W#2] g 3 P o tisto] aAABP + aCDP 9] g2 5t
ofet,

A D

L

o
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> &HE . 26cm?

B G C
A P E A1 AD, AB ol 3t A4 EF,HG & 1°H
oAEPH , oEBGP , oPGCF , oHPFD = 2% H A o]t}

OoABCD 9] % o|tt,

1
.. AABP + ACDP = 52 x 3= 26(cm?)




4.  HPAHEY ABCD oA AD o 4eje] A P & IS o, aPBC =
12cm? ©|t}h, gABCD 9] Yo]& Fo}d?

A P D
B C
D Gem? @ 18cm’ 3)24cm®
@ 30cm? ® 36cm?

B ) C

Tl A2t Zo] A P oA AB o] Bst=S PQ & 10W,
OABCD = 2APBC ©|2& gABCD = 2 x 12 = 24cm?
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¥ ABCD A /A ¢} /C 9] 0] 5 A-2- D
2o, x+y 9] gH-& Fotolet. !

A-2.E D

B F~z-C

T XL E Fa1stH

ODABCD 7} Aol ng

(BAD /BCD
2 2

/BAD = /BCD °|B.&2

/ECF = /CED (. 917})
(AFB = (FAE (- 97}
.. LAEC = /AFC

= o] tfzto] 37]7} zHzt OB R [JAFCE £ H A

olc}.
Wb x =2, y=50|B& x+y=7 o},




7. OABCD o4 AD//BC ©]1 AB=AD ¢ A D

o, x o] 27]=9
757

D 65° @ 68° ® 70° s

@150 @)soe

/DBA = /ADB = (180° - 130°) + 2 = 25°
x=180°—(25°+75°) =80°




oS 138 9] A2 ABCD |4 AD //BC ©]1, AABC ©] Hol7}
15cm? & off, ADBC 2] §o]& 5ozt

A D
E

B > C
cm?

AABC ¢} ADBC ©|A BC & 5Y35t2 AD °|A BC 7149

g gons
AABC 9] §l0]2t ADBC 9] Wel sttt
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10. ©& 13oA Atte]E ABCD = AD//BC,A0: CO=1:20°]1
AFh2]ZE ABCD 9] Yol 27cm? € ©, AABO 9] Hol=?

A D
(9)
B C
D)6cm? @ Tcm? @ 8cm?
@ 9cm? ® 10cm?

S5 ~
0ABCD = AAOD + ADOC + AOBC + AABO °]t}.

AAOD 9 HolE gl 6HH, 1:2=a: ADOC, ADOC = 2a
ADOC = AABO =2a,1:2=2a: ABOC, ABOC = 4a
OABCD = a + 2a + 2a + 4a = 9a = 27cm? , a = 3cm?

. AABO = 2a = 6cm?




